
 86" 

© 2018 R.W.Carlstedt

Description

Sub-Assembly

Part #

Scale

Weight (Lbs)

Material Drawn By - Date

U.S.S. Monitor Steam Engine

1:12

RWC 12-2018

C 1

Cylinder-Heads & 
Piston Assembly

12140.74
Cylinder Assembly

SHEET 1 OF 4

 47" 

 6 9/16" 

84



PICTORIAL  VIEW OF  THE  CYLINDER, HEADS, AND  PISTONS
SHOWING  DRAIN  COCKS  AND  FASTENERS   USED  IN  THIS 

ASSEMBLY
© 2018 R.W.Carlstedt

Description

Sub-Assembly

Part #

Scale

Weight (Lbs)

Material Drawn By - Date

U.S.S. Monitor Steam Engine

12140.74

1:8

RWC 12-2018

C 1

Cylinder-Heads &
 Piston Assembly

SHEET 2 OF 4

CYLINDER ASSEMBLY

85



BILL  OF  MATERIALS

C 9

C 6

C 7

C 5

DC 1G

DC 1 C 2 C 10 C 12 C 11 C 8 C 3

C 4

S 11
26

N 5
68 S 12

24
N 5
68

B 9
22

N 3
34

S 15
8

N 14
8

N 19
12

N 3
34

S 6
12

 MOUNTING FASTENERS BELOW MAY NOT BE SHOWN

PART DESCRIPTION QTY.
C 2 Cylinder 1
C 3 Cylinder -Center Head 2
C 4 Cylinder Head- Port 1

C 5 Cylinder Head- Starboard 1

C 6 Packing Gland 2
C 7 Trunk Bearing Insert 2
C 8 Piston Head 2
C 9 Piston Trunk 2
C 10 Piston Wristpin 2
C 11 Piston  Ring 4
C 12 Piston Support Ring 2

PART DESCRIPTION QTY.
B 9 3/4" Bolt x 7" 22
S 6  Stud  3/4" x 5-3/4" 12
S 11 Stud 1"  X 4" 26
S 12  Stud   1" x 6" 24
S 15  Stud   1-1/2" x 7" 8
N 3 3/4" Hex Nut 34
N 5 1" Hex Nut 68

N 14 1-1/2" Hex Nut - 2-1/2" flats 8
N 19 3/4" Hex Nut -Locking 12
DC 1 Drain Cock 8

DC 1 -G 1" ELBOW 4

© 2018 R.W.Carlstedt

Description

Sub-Assembly

Part #

Scale

Weight (Lbs)

Material Drawn By - Date

U.S.S. Monitor Steam Engine

1:8

RWC 12-2018

Cylinder-Heads & 
Piston Assembly

Cylinder Assembly

C 1

12,164

SHEET 4 OF 4

86



© 2018 R.W.Carlstedt

Description

Sub-Assembly

Part #

Scale

Weight (Lbs)

Material Drawn By - Date
U.S.S. Monitor Steam Engine

1:8

RWC 10-2018

C 1

Cylinder-Heads & 
Piston Assembly

Cylinder Assembly

SHEET 3 OF 4

12,164

MAJOR CUTAWAY SHOWING COMPONENTS OF THE MONITOR'S CYLINDER

INLET
STEAM
PASSAGE

PISTON  RING (2)
ONLY 1 SHOWN

PORT STEAM
 CHAMBER

PISTON-TRUNK

CYLINDER

CENTER HEADS

1/16" GAP HERE BETWEEN
 FACE AND TRUNK  BY
DESIGN- VERY IMPORTANT

STARBOARD
STEAM
CHAMBER

PORT ,STEAM
CHAMBER

PORT CYLINDER-HEAD

MOST FASTENERS AND INDICATOR COCKS NOT SHOWN FOR CLARITY

PISTON RODS NOT SHOWN AS THEY ARE ANOTHER ASSEMBLY

EXHAUST  
STEAM
PASSAGE

INLET
STEAM
PASSAGE

PACKING GLAND

PORT CYLINDER-HEAD
PISTON-FACE

STARBOARD
 STEAM
CHAMBER

PISTON-TRUNK

PISTON-FACE

STARBOARD CYLINDER-HEAD
PARTICALLY CUTAWAY

PISTON RING 
SUPPORT

WRISTPIN

FRONT KEYWAY
FOR CYLINDER
MOUNTING

FRONT MOUNT
FOR CYLINDER
AND B 18 BOLT

FRONT MOUNT
FOR CYLINDER

VALVE FACE

PISTON-TRUNK

BABBITT SEAL-
BEARING

PACKING  MATERIAL 
LIKE GRAPHITE YARN
PLACED HERE

87



 18 3/4" 
 24 3/4" 

 44 1/2" Bolt Circle 

 21" 

Cylinder 
Cylinder Assembly

© 2018 R.W.Carlstedt

Description

Sub-Assembly

Part #

Scale

Weight (Lbs)

Material Drawn By - Date

U.S.S. Monitor Steam Engine
Cast Iron

1:16

RWC 12-2018

C 2

5088.961

SHEET 1 OF 4

 8"C/L   MOUNTS 
 79" FRONT MOUNTS C/L TO C/L 

42"

 83 1/2"OAL. 

 1" 

47" 

 1 1/2"TYP. 
 80 1/2" 

 

 13 3/8"  OUTSIDE
DIAMETER

20 5/8"
C/L  21 1/8" 

1" THREADED THRU-

ON A 44 1/2" BC
22 PLCS AS SHOWN

 4 PLCS   
1 1/2" THRU HOLES -

1 1/2" THREADED
THRU HOLES- 
4 PLCS               

 CHEST C/L  TO

 22" 

 1" 

36" Center Ring ID  

40" Bore  

 47" 

 13 1/4" 

 21 1/2" 

15" 

 17 1/4" 

1 3/4"

 
9" 

 28" 

CYLINDER C/L

 27" 

 

 27 1/2" 

 23 1/2" 

88



 0" 

 0
" 

 3" 

 3" 

 1" 
 3 1/2" 

 7 1/4" 

 11" 

 17" 

 20 3/4" 

 24 1/2" 
 27" 
 28" 

 3
 5

/8
" 

 4
 5

/8
" 

 7
 1

/8
" 

 1
1 

1/
8"

 

 1
5 

1/
8"

 

 1
9 

1/
8"

 

 2
3 

1/
8"

 

 2
7 

1/
8"

 

 3
1 

1/
8"

 

 3
5 

1/
8"

 
 3

7 
5/

8"
 

 3
8 

5/
8"

 

Cylinder 
© 2018 R.W.Carlstedt

Description

Sub-Assembly

Part #

Scale

Weight (Lbs)

Material Drawn By - Date

U.S.S. Monitor Steam Engine
Cast Iron

5088.961

1:8

RWC 10-2018

C 2

Cylinder Assembly

SHEET 2 OF 4

COCKS  -THRU TO  INTAKE 

CYLINDER C/L

STEAM   PASSAGEWAY  

NOTE: -A-

VALVE  FACE  AND  HOLE  DETAILS
NO DETAILS

4- 1 " THREADED HOLES 
USED  FOR INDICATOR 

NOTE; TOP AND 
BOTTOM ROWS
ARE SAME DIMS

VALVE CHEST C/L

NOTE :  25 - 7/8  DIA. "THREADED
NOTE:

ARE MIRROR IMAGES OF EACH OTHER
VALVE CHESTS  AND  VALVE FACES HOLES 1-1/2" DP. AS SHOWN

A
A

NOTE:  7/8 " THRU HOLES 
 3-ONLY-AS SHOWN IN
OUTER-UPPER  CORNER

A

TOP AND BOTTOM CHEST HOLES
 ARE ALLIGNED TO SAME DIMENSIONS

 28" 

 4" 

 3" 

 4" 
 4 3/4" 

 4 3/4" 

 28 1/2" 

 8" 

 10 3/4" 

 8" 

 3 1/4" 

 35" 

 3 1/4" 

 3 1/4" 

 21 1/2" 

 2" 

 4" 

 4" 

 4" 

 4" 

 4" 

 5" 

 3"  6 7/8" 

 21 1/8" 

1 3/4"

 3 5/8" 

 12 1/4" 

89



 6 3/8" 

 38 3/8" 

 32" 
 3 3/8" 

 21" 

 23 1/2" 

 25 1/2" 

 17 1/4" 

 26 1/4" 

 27 1/2" 

1-1/2" THREADED HOLES
4 PLCS  FORWARD

THREAD
OF CYLINDER  3/4 OR 1"

CYLINDER DRAINS
4 SPACED ON BOTTOMKEYWAY

1-1/2" DP.

1 1/2"
 THRU HOLES

4 PLCS

FLANGE 

 4" 

47"

 35 1/2" 
 4" 
 2" 

 5 1/2" 
 13 1/2"  4 1/2" 

 9 3/16" 

 6 11/16" 

 15" 

 18 3/4" 

 24 3/4" 

 39 1/2" 

BOTTOM VIEW-CYLINDER MOUNTS AND KEYWAY

VIEW FROM AFT

TOP VIEW

 13 3/8" 
 15 7/8" 

 56 3/4"  13 3/8" 

 28 1/2" 

Cylinder 
© 2018 R.W.Carlstedt

Description

Sub-Assembly

Part #

Scale

Weight (Lbs)

Material Drawn By - Date

U.S.S. Monitor Steam Engine
Cast Iron

5088.961

1:16

RWC 10-2018

C 2

Cylinder Assembly

SHEET 3 OF 4

1/2" R 
FILLET
INSIDE

 12" 

 13 1/4" 

 15" 

 R1/2" 

 7 3/4"  2"  12 1/2" 

90



E

E

D

D

C

C

CUTAWAY VIEW OF PORTS
AND EXHAUST MANIFOLD
              SCALE 1 : 12

NOTE:
INLET PASSAGE

FOLLOWS CYLINDER WALL
TO MAINTAIN 1" THICKNESS

C 2 Cylinder 
© 2018 R.W.Carlstedt

Description

Sub-Assembly

Part #

Scale

Weight (Lbs)

Material Drawn By - Date

U.S.S. Monitor Steam Engine
Cast Iron

5088.961

1:24

RWC 10-2018 Cylinder Assembly

SHEET 4 OF 4

SECTION E-E
SCALE 1 : 12

 16" 

 1" 

 R3 1/4" 

 2 1/2" 

 1" 

 1 1/4" 

SECTION D-D
SCALE 1 : 12

 R2 1/2" 

 3/4" 

 2" 

 27" 

 1 1/2" 

 3/4" 

 22" 
 17 1/4" 

 2" 

40"  

 3/4" 

 5 3/4" 

 4 1/4" 

 13 1/4" 

 6 1/2" 

 6 3/4" 

 25 1/2" 

 7 1/2" 

 23" 

 3 3/4" 

 27 1/2" 

 2 1/2" 

SECTION C-C
SCALE 1 : 12

4 PLCS - FOR CYLINDER DRAIN

2 3/4"
3 3/4"

3/4" (?) THREADED THRU HOLES

1" WALL

 41 3/4" 
 40" 

 2" 

 1 3/4" 
 3 1/2" 

 6 1/2" 

 3" 
 4"  4" 

 2 1/2" 
 4" 

 4 3/4" 
 3 1/4" 

 3" 
 4" 

 7 1/2" 

 36 1/4" 

 3 1/8" 

 5" 
 3" 

 1/2" 

 36"  

 R 5 1/4" 

91



TRUE ARC CENTER
NOT SHOWN

SECTION A-A B

 R51"  R3/4" 

 
31 5/8" 

35 1/2" 

 1 1/2" 
 R50" 

40"  

 

 3 3/4" 

 R1/2" 

 29 11/16" 

Head

Cylinder Assembly

© 2018 R.W.Carlstedt

Description

Sub-Assembly

Part #

Scale

Weight (Lbs)

Material Drawn By - Date

U.S.S. Monitor Steam Engine
Cast Iron

1:8

RWC 12-2018

C 3
Cylinder -Center 

403.08

 3 3/4" 

 3 3/4" 
 29 11/16" 

 35 1/2" 

 40" 

PISTON SIDE VIEW

 40" 

 34"B/C 

13/16" THRU HOLES
22-  SPACED EQUALLY ON

A 34" BOLT CIRCLE AS SHOWN

 29 11/16" 

AA

SCALE  1: 10

DETAIL B
SCALE 1 : 2

 1 1/4" 

 R1" 

 7/16" 

 R3/16" 

 3/4" 

4 3/16"
ARC CENTERS

 2 1/4"  1 15/16" 

 1 3/8" 

 R2 1/2" 

92



 90° 

 44 1/2" 

 16 3/4" 

Cylinder Assembly
835.486

© 2018 R.W.Carlstedt

Description

Sub-Assembly

Part #

Scale

Weight (Lbs)

Material Drawn By - Date

U.S.S. Monitor Steam Engine
Cast Iron

1:12

RWC 10-2018

C 4
Cylinder Head- Port

SHEET 1 OF 2
AS VIEWED FROM INSIDE CYLINDER

SECTION B-B

SHOWING  PROBABLE 4  WEB LOCATION-
THICKNESS CALL OUTS AND ACCESS PORTS

REFERRENCED IN PASSIC DRAWING 2-3-33

*

47"  

40"  

TYP.
R1"

TYP
7/8"

 18 1/2" 

 9 3/4" 

 6 1/4" 

 38 1/2" * NOTE:
VALVE CHEST C/L

 IS 1-3/4" ABOVE
 CYLINDER C/L

INTERNAL VIEW
POINT

SECTION A-A  
LOCATED ON  SHEET 2
FOR DETAILS OF BORE 

AND PROFILE AA

*

CASTING ACCESS PORTS ( 4)

B

B

EXTERNAL VIEW OF PORT HEAD

EQUALLY SPACED AND 
POSITIONED AS SHOWN

ON A 44-1/2" B/C

1"- 22  THRU HOLES

3/4" TAPPED HOLES- 2" DEEP
6 SPACED EQUALLY ON A 16-3/4" B/C

C

C

SECTION C-C

 8 5/16" 
 6 1/4" 

 2" 

 3/4" 
 7/8" 

93


	C 1 Cylinder-Heads & Piston Ass
	C 1 Cylinder-Heads & Piston Ass
	C 2 CYLINDER - Sheet4
	C 3 Cylinder Center Head - Mode
	C 4 Cylinder Head- Port - Model
	C 5 Cylinder Head -Starboard - 
	C 6 Cylinder Head Packing Gland
	C 7 Trunk Bearing Insert - Mode
	C 8 Piston Head - Model
	C 9 Piston Trunk - Sheet1
	C 10 Piston Wristpin - Model
	C 11 Piston Ring - Model
	C 12 Piston Support Ring - Mode



